



Original Article

Seasonal effects on the continuous positive airway pressure adherence of patients with obstructive sleep apnea

Yoko Fujino ^{a, b, *}, Yasunori Oka ^b, Tomoko Wakamura ^a^a Environmental Health Nursing, Human Health Sciences, Graduate School of Medicine, Kyoto University, 53, Shogoin Kawahara-cho, Sakyo-ku, Kyoto, 606-8507, Japan^b Center for Sleep Medicine, Ehime University Hospital, 454, Toon-city, Ehime, 791-0204, Japan

ARTICLE INFO

Article history:

Received 1 October 2020

Received in revised form

12 January 2021

Accepted 15 January 2021

Available online 29 January 2021

Keywords:

Obstructive sleep apnea

Continuous positive airway pressure

Adherence

Seasonal change

ABSTRACT

Objective: This study examined seasonal differences in continuous positive airway pressure (CPAP) therapy adherence among patients with obstructive sleep apnea (OSA).**Methods:** Patients aged ≥ 20 years with OSA who had used CPAP devices on the automatic setting for > 12 consecutive months ($n = 141$) were included in this retrospective study from December 2015–2016. The information of CPAP use (pressure, hours of actual use) was extracted from database downloaded from patients' CPAP devices. Patients were divided into adherent and non-adherent groups using the cutoff point of 70% CPAP use for ≥ 4 h daily over the 1-year study period. CPAP use data were averaged for each season.**Results:** Patients in the adherent group were significantly older than those in the non-adherent group ($p < 0.001$). In the adherent group, the rate of ≥ 4 h daily CPAP use was significantly lower, the daily duration of CPAP use was significantly shorter, and the residual apnea–hypopnea index (AHI; events/hour) was significantly higher in summer than in other seasons (all $p < 0.001$). In the non-adherent group, the duration of daily CPAP use and the AHI differed significantly between winter and summer ($p = 0.008$ and $p < 0.001$, respectively).**Conclusions:** Seasonal changes were associated with the CPAP adherence of patients with OSA. The study findings suggest that there is possibility of increasing the duration of CPAP use by adjusting the bedroom environment in hot and humid seasons.

© 2021 Elsevier B.V. All rights reserved.

1. Introduction

Continuous positive airway pressure (CPAP) is the first-line treatment for obstructive sleep apnea (OSA), and is associated with the prevention of hypertension [1], improvement of quality of life [2], and longevity [3], but it may not have the expected effects when patients' adherence at home is inadequate. Thus, the creation of an environment facilitating patients' home CPAP use is important to increase treatment effectiveness.

The Japanese health insurance system mandates that patients who use CPAP devices visit clinics or hospitals every 1–3 months to address concerns arising from individual CPAP usage data, receive educational interventions, resolve CPAP-related problems (e.g., dry

nose/mouth, air leakage from the mouth, device noise), and have the fit of their masks and headgear adjusted. These opportunities to resolve issues promptly facilitate CPAP adherence. In winter, however, patients with OSA and nasal symptoms show reduced CPAP adherence due to the cold air emitted by the device; in spring, CPAP adherence worsens among these patients due to pollen allergies. Cassol et al. [4] reported reduced laboratory-measured apnea–hypopnea index (AHI) scores in winter relative to other seasons in Brazil. Seasonal changes in the AHI are also observed in clinical practice in Japan. Seasonal variations may also impact the bedroom environments of CPAP users with OSA. Thus, this study was conducted to examine seasonal changes in the CPAP adherence of patients with OSA and to identify seasonal factors influencing CPAP adherence among these patients in Japan.

* Corresponding author. Center for Sleep Medicine, Ehime University Hospital, 454, Toon-city, Ehime, 791-0204, Japan.

E-mail address: fujino.yoko.ct@ehime-u.ac.jp (Y. Fujino).

2. Methods

2.1. Design, setting, and participants

This retrospective study was conducted at the Center for Sleep Medicine of the Ehime University Hospital, Ehime, Japan (43°N, 141°E), which is located in a suburban region. A single-center design was selected to ensure data quality and avoid confounding factors. The lowest and highest average ambient temperatures in the area during the study period were -0.6°C (February) and 37.2°C (August), respectively. The lowest and highest average ambient relative humidity values were 61% (February, March, May, and December) and 77% (October), respectively. The mean concentrations of sulfur dioxide, suspended particulate matter, nitrogen dioxide, and carbon monoxide during the study period met Japan's 2015 environmental standards [5], and air pollution was not a problem in the area.

From a total of 254 patients on CPAP treatment in November and December 2016, 141 patients with OSA were included in this study. Additional eligibility criteria were: 1) age ≥ 20 years, 2) >12 consecutive months of center visitation for CPAP treatment, 3) ability to respond to questionnaires, and 4) use of REMstar Auto System One CPAP devices (Philips Respironics, Inc., Murrysville, PA, USA) with the automatic setting. Participating patients were followed by the center's neurologist, cardiologist, and otolaryngologist. Nurses provided patient education and support and served as sleep technologists. The data extracted from CPAP device from November 2015–October 2016 were averaged and analyzed as participant's adherence for each season. Personal information including age (years), gender (man/woman) and body mass index (BMI) were obtained by electronic medical record.

The institutional review board of Ehime University Hospital (no. 1609021) and the ethics committee of Kyoto University Graduate School of Medicine (no. R0796) approved this study. Written informed consent was obtained from all participating patients.

2.2. Subjective sleepiness and diagnostic assessments

Daytime sleepiness before the initiation of CPAP use was assessed at patients' first visits to the outpatient clinic using the Japanese version of the Epworth Sleepiness Scale (JESS) [6], a self-administered, self-reported eight-item questionnaire. Possible item scores range from 0 to 3 and possible total (summed) scores range from 0 to 24; total scores ≥ 11 are taken to suggest excessive daytime sleepiness (EDS). The validity of the JESS has been confirmed.

Patients underwent full diagnostic polysomnographic (PSG) assessment before the initiation of CPAP therapy. This assessment was performed under technician-attended conditions and using standard parameters in our center's laboratory. Six electroencephalogram channels (F4-M1, F3-M2, C4-M1, C3-M2, O2-M1, and O1-M2) with right and left electrooculograms, a chin electromyogram, pulse oximetry, an oronasal thermistor, and a nasal air pressure transducer were employed. Snoring was audio-recorded, thoracic and abdominal respiratory efforts were indexed using respiratory inductance plethysmography, electrocardiography and anterior tibialis electromyography were used, and body position was recorded. OSA severity was estimated using the American Academy of Sleep Medicine criteria [7].

2.3. CPAP questionnaire administration

At the time of study enrollment, patients filled out an original questionnaire for this study that solicited data on patients' characteristics including job type, marital status and information on

seasonal nasal symptoms (i.e. allergies) and difficulty with CPAP use due to nasal symptoms, tube or mask discomfort, and their bedroom environments (e.g., air conditioning, disturbing noises due to air leakage from the CPAP device or from outdoors or bed-partners) in the previous 12 months from 2015 to 2016. Responses had a "yes/no" format on 12 items. We defined spring as March–May, summer as June–August, autumn as September–November, and winter as December–February according to the standards of the Japan Meteorological Agency [8]. Questionnaire responses were coded as "yes" for a given season when a patient provided at least one "yes" response to an item for that season.

2.4. Assessment of CPAP use and adherence

We extracted data on daily CPAP use (in minutes and as a percentage), CPAP use for ≥ 4 h daily (percentage), the residual AHI (events/hour), mean overnight pressure (in cmH_2O), pressure occupying the 90th percentile of the total overnight pressure ($\geq 90\%$ pressure; cmH_2O), and use of heated humidifier/tube (on/off) in the previous 12 months from patients' CPAP devices prior to questionnaire administration. These data were averaged for each season.

For CPAP adherence, we used the cutoff of 70% CPAP use for ≥ 4 h daily; although numerous clinical definitions of CPAP adherence exist, this threshold is widely accepted [9]. Patients were divided into adherent and non-adherent groups based on 12 months of CPAP data using this threshold.

2.5. Statistical analysis

Continuous data were expressed as means and standard deviations (SDs), and categorical data were reported as proportions. The study data were compared among seasons. Categorical data were analyzed using the chi-squared test. For normally and non-normally distributed data, differences between means were assessed using Student's *t* test and the Mann–Whitney *U* test, respectively. CPAP data were compared using repeated-measures analysis of variance with the post-hoc Tukey's test. Fisher's exact test was used to compare demographic and CPAP adherence data. Variables were also compared between the adherent and non-adherent groups. A simultaneous multivariable logistic regression model (Firth's logistic regression) was used to estimate adjusted odds ratio (OR) and a 95% confidence interval (CI) for the associations between seasonal factors and CPAP adherence. Correlations among the BMI, AHI, and JESS scores were assessed separately in men and women using Spearman's correlation analysis. For all tests, *p* values < 0.05 was considered to be significant. The statistical analyses were performed using the SAS 9.4 software (SAS Institute Inc., Cary, NC, USA).

3. Results

Patient characteristics are presented in Table 1. Ninety (63.8%) patients were aged > 65 years, in 62.8% of men and 66.7% of women, respectively. Nearly half (43.3%) of the patients were unemployed or retired. Most patients were living with partners or family members, and 97.2% of them had sleeping partners. The most frequently recorded conditions in patients' medical histories were hypertension (31.9%), diabetes (19.9%), and arrhythmia (11.3%); 67 (47.5%) patients had no relevant medical history.

The mean BMI was $25.5 \pm 4.5 \text{ kg/m}^2$ and did not differ significantly between men and women (25.5 ± 4.2 and $25.5 \pm 5.2 \text{ kg/m}^2$, respectively). The mean AHI was 41.9 ± 15.5 events/h and was significantly higher among men than among women (43.7 ± 16.4

Table 1
Patient characteristics.

Characteristic	Total % (n) or mean $\pm$ SD	p
Sex		
Men	72.3 (102)	
Women	27.7 (39)	
Age (years)	66.3 $\pm$ 11.1	
Male	66.0 $\pm$ 11.8	0.615
Female	67.1 $\pm$ 9.5	
Age class (years)		
<50	7.1 (10)	
50–54	9.9 (14)	
55–59	7.8 (11)	
60–64	11.4 (16)	
65–69	21.2 (30)	
70–74	19.2 (27)	
≥ 75	23.4 (33)	
BMI (kg/m²)	25.5 $\pm$ 4.5	
Men	25.5 $\pm$ 4.2	0.950
Women	25.5 $\pm$ 5.2	
AHI (events/h)	41.9 $\pm$ 15.5	
Men	43.7 $\pm$ 16.4	0.014*
Women	37.4 $\pm$ 11.9	
AHI class		
5 $\leq$ AHI <15/h	1.4 (2)	
15 $\leq$ AHI <30/h	20.6 (29)	
AHI ≥ 30 /h	78.0 (110)	
JESS score	9.4 $\pm$ 4.9	
Men	10.0 $\pm$ 4.9	0.019*
Women	7.8 $\pm$ 5.1	
CPAP use period (years)	3.4 $\pm$ 1.4	
CPAP use period (years) class		
1 to <2	14.2 (20)	
2 to <3	13.5 (19)	
3 to <4	17.0 (24)	
4 to <5	29.8 (42)	
≥ 5	25.5 (36)	
Medical history		
Hypertension	31.9 (45)	
Diabetes	19.9 (28)	
Arrhythmia	11.3 (16)	
Heart disease	9.9 (14)	
Cerebrovascular disease	5.7 (8)	
Employment		
Unemployed/retired	43.3 (61)	
Dependent worker	26.9 (38)	
Independent worker	17.7 (25)	
Homemaker	12.1 (17)	
Marital status		
Married/living together	79.4 (112)	
Single/living alone	20.6 (29)	

AHI values were derived from polysomnographic analysis performed before the initiation of CPAP therapy. * $p < 0.05$, Student's *t* test.

SD = standard deviation; BMI = body mass index; AHI = apnea–hypopnea index; JESS = Japanese version of the Epworth Sleepiness Scale; CPAP = continuous positive airway pressure.

vs. 37.4 ± 11.9 events/h; $p = 0.014$). Most (78.0%) patients had severe OSA (AHI ≥ 30 events/h). The BMI and AHI correlated significantly in men and women ($r = 0.29$, $p = 0.003$ and $r = 0.51$, $p = 0.001$, respectively). The mean JESS score was 9.4 ± 4.9 , and was significantly higher among men than among women (10.0 ± 4.9 vs. 7.8 ± 5.1 ; $p = 0.019$). According to JESS scores, 41 (36.9%) patients had EDS.

More than half of the patients had been using CPAP devices for >4 years. The average daily CPAP use in all seasons exceeded 85%; the use rate varied significantly among seasons, with the lowest rate reported for spring and the highest reported for autumn (Table 2). CPAP use ≥ 4 h daily and daily CPAP use (in minutes) were significantly lower, and the residual AHI was significantly higher, in summer than in other seasons.

Patients in the adherent group were significantly older than those in the non-adherent group; all other clinical characteristics

were similar in the two groups (Table 3). The period of CPAP use did not differ significantly between the adherent and non-adherent groups (3.6 ± 1.3 vs. 3.1 ± 1.4 years, respectively; $p = 0.052$). No significant difference in the percentage of patients with EDS was observed between groups ($n = 32$, 68.1% vs. $n = 15$, 31.9%; $p = 0.388$). More than half of patients in the adherent and non-adherent groups (64.0% and 71.2%, respectively) had not experienced EDS before the initiation of CPAP treatment.

Seasonal CPAP data for the adherent and non-adherent groups are provided in Table 4. CPAP use for ≥ 4 h daily, daily CPAP use (in minutes), and the residual AHI differed significantly among seasons in both groups. In the adherent group, CPAP use for ≥ 4 h daily and daily CPAP use (in minutes) were lower, and the residual AHI was higher, in the summer than in other seasons. In the non-adherent group, the percentages of daily CPAP use and CPAP use for ≥ 4 h daily were greater in spring than in other seasons, but the residual AHI was not smallest in spring. The daily duration of CPAP use was shortest in summer and longest in winter (263 ± 68 vs. 286 ± 78 min, $p = 0.008$), and the residual AHI was highest in summer and lowest in winter (3.8 ± 3.1 vs. 3.0 ± 2.4 events/h, $p < 0.001$).

The electric fan use in autumn were related significantly to seasonal CPAP adherence (OR; 0.29, 95% CI 0.11–0.73) (Table 5). Additionally, the presence of complain due to the condensation of CPAP (OR; 7.81, 95% CI 1.48–41.14) and CPAP condensation in winter was also a significant factor (OR; 2.74, 95% CI 1.02–7.35) in adherent group compared with non-adherent group in autumn and in winter. In contrast, trouble with CPAP use due to condensation was significantly associated with less CPAP adherence (OR; 0.17, 95% CI 0.03–0.97). However, the rate of the condensation of CPAP was not significant in the adherent group than in the non-adherent group (in autumn; 19.4% and 8.3%, in winter; 59.4% and 48.9%, respectively). The rate of the trouble of CPAP use related to the condensation was not significant between adherent and non-adherent groups (7.5% and 10.4%, respectively). The proportion of patients with nasal allergies in spring was greatest in the adherent group than in the non-adherent group (32.6% vs. 45.7%) with no significant difference between groups. Trouble with CPAP use due to nasal allergies was reported least in autumn in the adherent and non-adherent groups (8.6% and 8.3%, respectively) with no significant difference between groups. The maximum proportion of patients who had difficulties with CPAP use due to nasal allergies was 20.3% during summer in the non-adherent group; the proportion of difficulties in the same group in winter was 22.2%. The rate of electric fan use in autumn was significantly lower in the non-adherent group than in the adherent group (45.8% and 21.5%, respectively; $p = 0.003$). No significant difference between groups was observed for other bedroom environment- and device-related factors.

4. Discussion

The present study demonstrated that CPAP adherence among patients with OSA in Japan differs seasonally. It tended to be worse in summer, when AHIs were worst, than in other seasons. The percentage of CPAP use for ≥ 4 h daily and the duration of daily CPAP use were worst in non-adherent group in summer. However, the seasonal change in the percentage of daily CPAP use differed from the seasonal variation in AHI. The rate of CPAP use for ≥ 4 h daily differed between the adherent and non-adherent groups by about 40%, and the duration of daily CPAP use differed by about 100 min, in all seasons. In the adherent group, the rate of daily CPAP use exceeded 95% throughout the year, which may have obscured the effects of seasonal fluctuations on CPAP treatment effectiveness. Even in the adherent group, however, in which the rate of daily CPAP use for ≥ 4 h daily

Table 2
CPAP use by season.

CPAP parameter	All seasons (ref)	Spring ^a	Summer ^a	Autumn [†]	Winter [‡]	Overall <i>p</i>
Daily use (%)	87.3 ± 18.6	88.9 ± 18.1 ^{b†}	86.4 ± 20.4 ^a	85.9 ± 21.0 ^a	87.2 ± 18.6	0.010
Use for ≥4 h/day (%)	73.4 ± 26.3	75.6 ± 25.6 [‡]	70.1 ± 28.2 ^{a†‡}	73.5 ± 27.7 [‡]	75.3 ± 26.8 [‡]	<0.001
Daily use (min)	340 ± 81	344 ± 82 [‡]	329 ± 81 ^{a†‡}	347 ± 86 [‡]	356 ± 86 ^{a†‡}	<0.001
Residual AHI (events/h)	3.1 ± 2.4	3.1 ± 2.8 [‡]	3.5 ± 2.6 ^{a†‡}	3.1 ± 2.3 [‡]	2.9 ± 2.1 [‡]	<0.001
Mean pressure (cmH ₂ O)	6.2 ± 1.3	6.1 ± 1.3	6.2 ± 1.3	6.2 ± 1.4	6.2 ± 1.4	0.650
≥90th percentile of % pressure (cmH ₂ O)	7.7 ± 1.5	7.6 ± 1.5	7.7 ± 1.5	7.7 ± 1.5	7.7 ± 1.7	0.791

Data are expressed as means ± standard deviations.

^a*p* < 0.05, spring; ^b*p* < 0.05, summer; [†]*p* < 0.05, to autumn; [‡]*p* < 0.05, winter, repeated-measures analysis of variance.

CPAP = continuous positive airway pressure; AHI = apnea–hypopnea index.

approached 90%, the duration of daily CPAP use showed significant seasonal variation. Seasonal differences in the rates of daily CPAP use and CPAP use for ≥4 h daily did not match the variation in the AHI, but the duration of CPAP use did. These results show that the duration (rather than rate) of daily CPAP use is an important indicator of seasonal effects, and suggest that the

provision of patient support to increase this duration could improve the effectiveness of CPAP treatment more efficiently than could an increase in the number of days with ≥4 h CPAP use. Certainly, the cutoff of 70% CPAP use for ≥4 h daily is ultimately important, but if the patient is not adherent for CPAP treatment, the duration of daily CPAP use cannot be ignored.

Table 3
Patient characteristics according to CPAP adherence.

Characteristic	Adherent (<i>n</i> = 89)	Non-adherent (<i>n</i> = 52)	<i>p</i>
Sex (male)	75.3 (67)	67.3 (35)	0.307
Age (years)	68.8 ± 10.4	62.0 ± 11.2	<0.001 [*]
Age class (years)			<0.001 [*]
<50	5.6 (5)	9.6 (5)	
50–54	3.4 (3)	21.2 (11)	
55–59	5.6 (5)	11.5 (6)	
60–64	7.9 (7)	17.3 (9)	
65–69	24.7 (22)	15.4 (8)	
70–74	22.5 (20)	13.5 (7)	
≥75	30.3 (27)	11.5 (6)	
BMI (kg/m ²)	24.9 ± 4.0	26.4 ± 5.2	0.089
BMI class (kg/m²)			0.629
<18.5	3.4 (3)	3.9 (2)	
18.5–25	51.7 (46)	42.3 (22)	
≥25	44.9 (40)	53.9 (28)	
AHI (events/h)	41.4 ± 16.7	42.9 ± 13.2	0.570
AHI severity			0.337
5 ≤ AHI <15/h	2.2 (2)	0 (0)	
15 ≤ AHI <30/h	23.6 (21)	15.4 (8)	
AHI ≥30/h	74.2 (66)	84.6 (44)	
JESS score	9.7 ± 5.0	8.9 ± 4.7	0.377
CPAP use period (years)	3.6 ± 1.3	3.1 ± 1.4	0.052
CPAP use period (years) class			0.098
1 ≤ years <2	9.0 (8)	23.1 (12)	
2 ≤ years <3	15.7 (14)	9.6 (5)	
3 ≤ years <4	14.6 (13)	21.2 (11)	
4 ≤ years <5	31.5 (28)	26.9 (14)	
≥5 years	29.2 (26)	19.2 (10)	
Medical history			0.331
Hypertension	34.8 (31)	26.9 (14)	
Diabetes	21.4 (19)	17.3 (9)	0.561
Arrhythmia	12.4 (11)	9.6 (5)	0.868
Heart disease	11.2 (10)	7.7 (4)	0.573
Cerebrovascular disease	5.6 (5)	5.8 (3)	0.098
Employment			0.189
Unemployed	46.1 (41)	38.5 (20)	
Dependent worker	22.5 (20)	34.6 (18)	
Independent worker	21.4 (19)	11.5 (6)	
Homemaker	10.1 (9)	15.4 (8)	
Marital status			0.715
Married/living together	84.3 (75)	86.5 (45)	
Single/living alone	15.7 (14)	13.5 (7)	

Data are expressed as mean ± standard deviation or total (%) *n*. The cutoff point used to define the adherent and non-adherent groups was 70% CPAP use for ≥4 h daily throughout the entire season.

^{*}*p* < 0.05, chi-squared test.

CPAP = continuous positive airway pressure; BMI = body mass index; AHI = apnea–hypopnea index; JESS = Japanese version of the Epworth Sleepiness Scale.

Table 4
CPAP use by season in the adherent and non-adherent groups.

CPAP parameter	All seasons (ref)	Spring [*]	Summer [‡]	Autumn [†]	Winter [‡]	Overall <i>p</i>
Adherent (n = 89)						
Daily use (%)	96.0 ± 5.2	96.4 ± 5.7	95.8 ± 6.9	95.6 ± 7.0	95.8 ± 6.5	0.699
Use for ≥4 h per day (%)	90.3 ± 8.4	91.3 ± 9.0 [‡]	86.4 ± 15.6 ^{*†‡}	90.5 ± 9.0 [‡]	91.4 ± 9.0 [‡]	<0.001
Daily use (min)	382 ± 55	383 ± 57 ^{‡‡}	367 ± 62 ^{*†‡}	389 ± 58 [‡]	397 ± 60 ^{*‡}	<0.001
Residual AHI (events/h)	3.0 ± 2.0	2.9 ± 2.0 [‡]	3.4 ± 2.3 ^{*†‡}	2.9 ± 2.0 [‡]	2.8 ± 1.9 [‡]	<0.001
Mean pressure (cmH ₂ O)	6.0 ± 1.1	6.0 ± 1.2	6.0 ± 1.1	6.0 ± 1.2	6.0 ± 1.2	0.684
≥90th% pressure (cmH ₂ O)	7.5 ± 1.4	7.5 ± 1.5	7.5 ± 1.4	7.5 ± 1.4	7.5 ± 1.4	0.811
Non-adherent (n = 44)						
Daily use (%)	72.3 ± 23.2	76.2 ± 24.0 [†]	70.3 ± 25.3	69.2 ± 26.1 [*]	72.5 ± 25.1	0.014
Use for ≥4 h per day (%)	44.6 ± 21.0	48.7 ± 22.5 [‡]	42.2 ± 22.5 [*]	44.5 ± 24.6	47.8 ± 24.6	0.025
Daily use (min)	270 ± 70	276 ± 75	263 ± 68 [†]	275 ± 74	286 ± 78 [‡]	0.008
Residual AHI (events/h)	3.4 ± 3.1	3.5 ± 3.7	3.8 ± 3.1 [†]	3.3 ± 2.7	3.0 ± 2.4 [‡]	<0.001
Mean pressure (cmH ₂ O)	6.4 ± 1.4	6.4 ± 1.4	6.5 ± 1.5	6.5 ± 1.6	6.5 ± 1.4	0.265
≥90th% pressure (cmH ₂ O)	7.9 ± 1.6	7.8 ± 1.6	7.9 ± 1.7	8.0 ± 1.8	8.0 ± 2.0	0.325

Data are expressed as means ± standard deviations. The cutoff point used to define the adherent and non-adherent groups was 70% CPAP use for ≥4 h daily throughout the entire season.

^{*}*p* < 0.05, spring; [‡]*p* < 0.05, summer; [†]*p* < 0.05, autumn; [‡]*p* < 0.05, winter, repeated-measures analysis of variance

CPAP = continuous positive airway pressure; AHI = apnea–hypopnea index.

The significance of the ≥4 h daily CPAP use rate has been demonstrated with the observation of dose–response effects of the duration of nightly CPAP use on clinical outcomes [10–12]. The percentage of ≥4 h daily CPAP use has also been associated with lower AHI [12,13]. Accordingly, our results not only indicate the existence of seasonal variations in CPAP adherence, but also suggest that the rate of ≥4 h daily CPAP use is related to more effective improvement of CPAP treatment outcomes, especially in hotter seasons.

OSA severity did not differ between the adherent and non-adherent groups in this study, but age did. Previous evidence suggests the existence of a relationship between OSA severity and CPAP adherence, given observed correlations with age, race, the BMI, insomnia severity, and self-efficacy [14,15]. Leppänen et al [16], reported that the AHI increased with age. Several issues with CPAP use, such as social background and lifestyle factors, may depend on age. Bed partners [17,18] and ESS score [19] have also been associated with CPAP adherence, although no such association was observed in this study, possibly due to differences in the bedroom environments and cultural backgrounds of patients participating in relevant studies.

In a cosinor analysis of PSG data from 7523 patients with sleep disorders within 10 years, Cassol et al. [4] found that the AHI differed significantly among seasons (being highest in winter), independent of patient sex, age, BMI, neck circumference, and relative air humidity. Brander et al. [20] reported that nasopharyngeal symptoms such as dryness (74%), sneezing (53%), mucus (51%), nasal obstruction (45%), and rhinorrhea (37%) were common in patients with OSA before the initiation of CPAP treatment; after treatment initiation, sneezing (75%) and rhinorrhea (57%) were worse among these patients in winter than in summer. These findings suggest that OSA severity is associated with seasonal changes, and the AHI is expected to be higher in winter. Allergic symptoms such as asthma, upper airway inflammation, nasal congestion, sneezing, rhinorrhea, and nasal pruritus contribute to the worsening of OSA [21,22]. Similarly, side effects affecting CPAP adherence include upper airway issues (e.g., dry nose, mouth, and/or throat; nasal obstruction; nasal discharge), mask leakage, cold air, and disturbing noises [23,24]. Thus, considering the seasonal variation in upper airway symptoms and OSA severity, CPAP adherence could worsen in spring and winter. However, adherence was worst in summer in this study. Researchers have suggested that a summertime increase in the residual respiratory disturbance index due to air pollution (i.e., elevated particle pollution) directly

influences upper-airway inflammatory responses, with increases in upper-airway resistance and collapsibility [25,26]. However, this factor is not applicable to the present study, which was conducted in a region with no air pollution problem.

Several common problems related to springtime and winter-time factors have been resolved through the development and improvement of CPAP devices and the increased prevalence of humidification and heated breathing tubes. Massie et al. [27] found a significant increase in adherence after 3 weeks of CPAP treatment with heated humidification compared with CPAP alone. The routine use of built-in humidification has been shown to reduce nasopharyngeal side effects of CPAP [28,29]. In this study, humidification was not associated significantly with CPAP seasonal adherence. More than half of the patients used CPAP devices with humidification, and the rate of discomfort symptoms related to condensation during CPAP use was low. The proportion of patients reporting nasal issues during CPAP use was smaller in this study than in previous studies [20,30]. Moreover, patients in this study were encouraged proactively to use built-in humidification and heated breathing tubes at the time of CPAP initiation and when they complained of upper-airway dryness during regular clinic visits. Consequently, they did not report issues with CPAP use due to condensation in winter. In general, CPAP use in winter may be considered to be difficult; however, we observed fewer problems during winter than in any other season in this study. In Japan, the use of CPAP devices with humidification and heated breathing tubes, and the widespread distribution of well-insulated homes, may reduce CPAP-related oral and nasal dryness and condensation. According to the Köppen–Geiger classification [31], the climate of Ehime Prefecture is warm and temperate, fully humid, with hot summers. This high humidity may alleviate the wintertime problem of upper-airway dryness among CPAP users. All of these reasons may explain the lack of CPAP-related problems during winter in this study. The patients in the adherent group were more aware of the presence of condensation, but it was the patients in the non-adherent group that had tube and mask condensation affecting CPAP use. However, we may have to interpret this finding cautiously given the extremely wide confidential interval in CPAP use. One of the possible explanations is that the patients in the adherent group adjusted for the presence of condensation and were not affected for CPAP use. The rates of daily CPAP use and electric fan use were significantly lower in the non-adherent group than in the adherent group in autumn. These findings suggest the existence of

Table 5
Associations of clinical features with seasonal CPAP adherence adjusted for age.

Variable	Spring			Summer			Autumn			Winter		
	Adherent	Non-adherent	OR	95% CI	Adherent	Non-adherent	OR	95% CI	Adherent	Non-adherent	OR	95% CI
	n = 95 (%)	n = 46 (%)			n = 82 (%)	n = 59 (%)			n = 93 (%)	n = 48 (%)		
Age			1.07*	(1.02, 1.11)			1.06*	(1.02, 1.10)			1.06*	(1.02, 1.10)
Discomfort symptoms												
Nasal allergy	32.6	45.7	0.38	(0.13, 1.09)	13.4	17.0	0.52	(0.13, 2.20)	22.6	18.8	1.03	(0.32, 3.33)
Trouble with CPAP use due to nasal allergy	12.6	19.6	1.09	(0.29, 4.15)	9.8	20.3	0.51	(0.14, 1.86)	8.6	8.3	1.14	(0.20, 6.62)
Allergy	20.0	23.9	1.80	(0.50, 6.52)	14.6	10.7	2.63	(0.53, 13.15)	14.0	14.6	0.68	(0.16, 2.97)
medication use												
CPAP	17.9	21.7	0.95	(0.27, 3.31)	7.3	10.2	0.84	(0.20, 3.60)	19.4	8.3	7.81*	(1.48, 41.14)
condensation												
Trouble with CPAP use due to condensation	4.2	8.7	0.88	(0.12, 6.36)	7.3	10.2	0.81	(0.19, 3.38)	7.5	10.4	0.17*	(0.03, 0.97)
Bedroom environment factors												
Humidifier	16.8	13.0	1.46	(0.43, 4.96)	8.5	8.5	0.91	(0.22, 3.72)	14.0	18.8	0.49	(0.15, 1.63)
Dehumidifier	3.2	0.0	8.79	(0.09, 900.77)	9.8	3.4	2.44	(0.47, 12.75)	4.3	2.1	1.45	(0.14, 15.45)
Air conditioner	21.1	23.9	0.87	(0.34, 2.24)	57.3	62.7	1.21	(0.54, 2.71)	39.8	43.8	1.18	(0.51, 2.74)
Heater	11.2	5.8	2.22	(0.37, 13.39)	0.0	0.0	–	–	12.4	7.7	3.52	(0.76, 16.33)
Floor heating	2.1	6.5	0.15	(0.01, 1.75)	0.0	0.0	–	–	3.2	2.1	3.07	(0.12, 78.42)
Electric fan	6.3	4.4	1.81	(0.19, 17.25)	45.1	59.3	0.67	(0.32, 1.40)	21.5	45.8	0.29*	(0.11, 0.73)
Bed temperature	16.8	8.7	1.63	(0.47, 5.64)	0.0	3.4	0.42	(0.01, 19.91)	11.8	1.4	0.88	(0.24, 3.23)
regulator												
CPAP device features												
Humidifier	56.8	63.0	0.87	(0.24, 3.18)	54.9	64.4	0.69	(0.18, 2.57)	55.9	64.6	0.42	(0.11, 1.55)
Heated tube	47.4	50.0	0.74	(0.20, 2.17)	46.3	50.9	0.92	(0.25, 3.39)	47.3	50.0	1.26	(0.34, 4.68)

The adherent group served as the reference. The full model included all covariates listed.

**p* < 0.05 for regression analysis.

CPAP = continuous positive airway pressure; OR = odds ratio; CI = confidence interval.

bedroom environment–related problems during cool and hot seasons, particularly in the non-adherent group. Nilius et al. showed that more condensation is formed in the breathing tube during CPAP use in cool sleeping environment [32]. In addition, condensation in the breathing tube was shown to cause the reduction of effective pressure for CPAP treatment [33]. Difficulty with bedroom CPAP device use in dry and cold season in particular might have been ameliorated by machine technologies such as humidification and heated breathing tube, but bedroom environment might not be adequate to use CPAP. Thus, strategies targeting the bedroom environment may improve the effect of seasons on CPAP adherence.

This study has several limitations. First, it was conducted in a single area of Japan and may have been affected by selection bias. In addition, although the climate in the study area is average for Japan, results from areas with different altitudes and/or house structures, even within Japan, may differ. Second, the design of the study prevented the assessment of causality. Moreover, the accuracy of CPAP questionnaire responses depends on patients' recall. We inquired only about nasal seasonal allergy symptoms, such as rhinitis and hay fever, and did not investigate the effects of other nasopharyngeal symptoms. Finally, we collected data on discomfort and bedroom environment factors related to CPAP use using a self-reported sensory scale. Future studies should examine objective indicators (e.g., temperature and humidity in the bedrooms of large numbers of patients living in different climatic regions) and identify endpoint effect sizes and statistical power. In addition, the factors associated with CPAP adherence in summer need to be explored further.

5. Conclusions

This investigation of associations between seasonal changes and CPAP adherence in patients with OSA showed that CPAP adherence and treatment effectiveness were worse in summer than in other seasons. Our findings can guide the delivery of targeted interventions in appropriate seasons to improve CPAP adherence, and possibly the cost effectiveness of care.

Authors' statement

We confirm that all authors have made significant contributions to this manuscript. They have seen and approved the final manuscript and agreed to its submission to *Sleep Medicine*.

CRediT authorship contribution statement

Yoko Fujino: Conceptualization, Methodology, Investigation, Data curation, Writing - original draft. **Yasunori Oka:** Investigation, Supervision, Writing - review & editing. **Tomoko Wakamura:** Supervision, Writing - review & editing.

Acknowledgements

Work for this study was performed at the Center for Sleep Medicine of Ehime University Hospital. The authors appreciate the patients who consented to participate in this research and the center's staff. We gratefully acknowledge the work of previous and current members of our laboratory at the Graduate School of Medicine, Kyoto University, Japan, for advice on data analysis and manuscript preparation.

Conflict of interest

This research did not receive any specific grant from funding agencies in the public, commercial, or nonprofit sectors. All authors declare that they have no conflict of interest.

The ICMJE Uniform Disclosure Form for Potential Conflicts of Interest associated with this article can be viewed by clicking on the following link: <https://doi.org/10.1016/j.sleep.2021.01.024>.

Abbreviations

AHI	apnea–hypopnea index
BMI	body mass index
CI	confidence interval
CPAP	continuous positive airway pressure
EDS	excessive daytime sleepiness
JESS	Japanese version of the Epworth Sleepiness Scale
OR	odds ratio
OSA	obstructive sleep apnea
PSG	polysomnography

Appendix A. Supplementary data

Supplementary data to this article can be found online at <https://doi.org/10.1016/j.sleep.2021.01.024>.

References

- [1] Castro-Grattoni AL, Torres G, Martínez-Alonso M, et al. Blood pressure response to CPAP treatment in subjects with obstructive sleep apnoea: the predictive value of 24-h ambulatory blood pressure monitoring. *Eur Respir J* 2017;50. <https://doi.org/10.1183/13993003.00651-2017>.
- [2] Batool-Anwar S, Goodwin JL, Kushida CA, et al. Impact of continuous positive airway pressure (CPAP) on quality of life in patients with obstructive sleep apnea (OSA). *J Sleep Res* 2016;25:731–8. <https://doi.org/10.1111/jsr.12430>.
- [3] Martí S, Sampol G, Muñoz X, et al. Mortality in severe sleep apnoea/hypopnoea syndrome patients: impact of treatment. *Eur Respir J* 2002;20:1511–8. <https://doi.org/10.1183/09031936.02.00306502>.
- [4] Cassol CM, Martinez D, Da Silva FABS, et al. Is sleep apnea a winter disease? Meteorologic and sleep laboratory evidence collected over 1 decade. *Chest* 2012;142:1499–507. <https://doi.org/10.1378/chest.11-0493>.
- [5] Ehime prefectural center for environmental creation. About the measurement result of the atmospheric environment in 2016. October, 24, 2017. p. 29–32. <https://www.pref.ehime.jp/kankyoku/k-hp/theme/bushitsu/taiki/documents/28taikiipress.pdf>.
- [6] Takegami M, Suzukamo Y, Wakita T, et al. Development of a Japanese version of the Epworth Sleepiness Scale (JESS) based on item response theory. *Sleep Med* 2009;10:556–65. <https://doi.org/10.1016/j.sleep.2008.04.015>.
- [7] American academy of sleep medicine. International classification of sleep disorders. 3rd ed. 2014. Darien, IL.
- [8] Japan Meteorological Agency. Overview of Japan's climate. https://www.data.jma.go.jp/gmd/cpd/longfst/en/tourist_japan.html#head_lang [accessed December 4, 2020].
- [9] Kribbs NB, Pack AI, Kline LR, et al. Objective measurement of patterns of nasal CPAP use by patients with obstructive sleep apnea. *Am Rev Respir Dis* 1993;147:887–95. <https://doi.org/10.1164/ajrccm/147.4.887>.
- [10] Zimmerman ME, Arnedt JT, Stanchina M, et al. Normalization of memory performance and positive airway pressure adherence in memory-impaired patients with obstructive sleep apnea. *Chest* 2006;130:1772–8. <https://doi.org/10.1378/chest.130.6.1772>.
- [11] Campos-rodriguez F, Pen N, Reyes-nun N. Mortality in obstructive sleep apnea-hypopnea patients treated with positive airway pressure. *Chest* 2005;128:624–33. <https://doi.org/10.1378/chest.128.2.624>.
- [12] Weaver TE, Maislin G, Dinges DF, et al. Relationship between hours of CPAP use and achieving normal levels of sleepiness and daily functioning. *Sleep* 2007;30:711–9. <https://doi.org/10.1093/sleep/30.6.711>.
- [13] Antic NA, Catchside P, Buchan C, et al. The effect of CPAP in normalizing daytime sleepiness, quality of life, and neurocognitive function in patients with moderate to severe OSA. *Sleep* 2011;34:111–9. <https://doi.org/10.1093/sleep/34.1.111>.
- [14] Amfilochiou A, Tsara V, Kolilekas L, et al. Determinants of continuous positive airway pressure compliance in a group of Greek patients with obstructive sleep apnea. *Eur J Intern Med* 2009;20:645–50. <https://doi.org/10.1016/j.iejim.2009.07.004>.

- [15] Yetkin O, Kunter E, Gunen H. CPAP compliance in patients with obstructive sleep apnea syndrome. *Sleep Breath* 2008;12:365–7. <https://doi.org/10.1007/s11325-008-0188-4>.
- [16] Leppänen T, Töyräs J, Mervaala E, et al. Severity of individual obstruction events increases with age in patients with obstructive sleep apnea. *Sleep Med* 2017;37:32–7. <https://doi.org/10.1016/j.sleep.2017.06.004>.
- [17] Mcardle N, Kingshott R, Engleman HM, et al. Partners of patients with sleep apnoea/hypopnoea syndrome : effect of CPAP treatment on sleep quality and quality of life. *Thorax* 2001;56:513–8. <https://doi.org/10.1136/thorax.56.7.513>.
- [18] Parish JM, Lyng PJ. Quality of life in bed partners of patients with obstructive sleep apnea or hypopnea after treatment with continuous positive airway pressure. *Chest* 2003;124:942–7. <https://doi.org/10.1378/chest.124.3.942>.
- [19] Chai-Coetzer CL, Luo Y-M, Antic NA, et al. Predictors of long-term adherence to continuous positive airway pressure therapy in patients with obstructive sleep apnea and cardiovascular disease in the SAVE study. *Sleep* 2013;36:1929–37. <https://doi.org/10.5665/sleep.3232>.
- [20] Brander PE, Soirinsuo M, Lohela P. Nasopharyngeal symptoms in patients with obstructive sleep apnea syndrome. *Respiration* 1999;66:128–35. <https://doi.org/10.1159/000029354>.
- [21] Young T, Finn L, Kim H. Nasal obstruction as a risk factor for sleep-disordered breathing. *J Allergy Clin Immunol* 1997;99:757–62. [https://doi.org/10.1016/S0091-6749\(97\)70124-6](https://doi.org/10.1016/S0091-6749(97)70124-6).
- [22] Craig TJ, Sherkat A, Safaei S. Congestion and sleep impairment in allergic rhinitis; 2010. p. 113–21. <https://doi.org/10.1007/s11882-010-0091-5>.
- [23] Broström A, Årestedt KF, Nilsen P, et al. The side-effects to CPAP treatment inventory: the development and initial validation of a new tool for the measurement of side-effects to CPAP treatment. *J Sleep Res* 2010;19:603–11. <https://doi.org/10.1111/j.1365-2869.2010.00825.x>.
- [24] Borel JC, Tamisier R, Dias-Domingos S, et al. Type of mask may impact on continuous positive airway pressure adherence in apneic patients. *PloS One* 2013;8:1–8. <https://doi.org/10.1371/journal.pone.0064382>.
- [25] Lappharat S, Taneepanichskul N, Reutrakul S, et al. Effects of bedroom environmental conditions on the severity of obstructive sleep apnea. *J Clin Sleep Med* 2018;14:565–73. <https://doi.org/10.5664/jcsm.7046>.
- [26] Zanolletti A, Redline S, Schwartz J, et al. Associations of PM10 with sleep and sleep-disordered breathing in adults from seven U.S. urban areas. *Am J Respir Crit Care Med* 2010;182:819–25. <https://doi.org/10.1164/rccm.200912-1797OC>.
- [27] Massie CA, Hart RW, Perez K, et al. Effects of humidification on nasal symptoms and compliance in sleep apnea patients using continuous positive airway pressure. *Chest* 1999;116:403–8. <https://doi.org/10.1378/chest.116.2.403>.
- [28] Worsnop CJ, Miseski S, Rochford PD. Routine use of humidification with nasal continuous positive airway pressure. *Intern Med J* 2010;40:650–6. <https://doi.org/10.1111/j.1445-5994.2009.01969.x>.
- [29] Nilius G, Franke KJ, Domanski U, et al. Effect of APAP and heated humidification with a heated breathing tube on adherence, quality of life, and nasopharyngeal complaints. *Sleep Breath* 2016;20:43–9. <https://doi.org/10.1007/s11325-015-1182-2>.
- [30] Mador MJ, Krauz M, Pervez A, et al. Effect of heated humidification on compliance and quality of life in patients with sleep apnea using nasal continuous positive airway pressure. *Chest* 2005;128:2151–8. <https://doi.org/10.1378/chest.128.4.2151>.
- [31] Peel MC, Finlayson BL, McMahon TA. Updated world map of the Köppen-Geiger climate classification. *Hydrol Earth Syst Sci* 2007;11:1633–44. <https://hal.archives-ouvertes.fr/hal-00305098>.
- [32] Nilius G, Domanski U, Franke KJ, et al. Impact of a controlled heated breathing tube humidifier on sleep quality during CPAP therapy in a cool sleeping environment. *Eur Respir J* 2008;31:830–6. <https://doi.org/10.1183/09031936.00161806>.
- [33] Bacon JP, Farney RJ, Jensen RL, et al. Nasal continuous positive airway pressure devices do not maintain the set pressure dynamically when tested under simulated clinical conditions. *Chest* 2000;118:1441–9. <https://doi.org/10.1378/chest.118.5.1441>.